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D 2x+1>0
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® 50-6x=4 @ 50+ 6x=-4 @ 50 - 6x = —4

@ 50x+6x =4 @%erzzl



® —4x-2=-2(2x+1)

® 3(2x+1)=2x+1

@ 4x-3=5x-2

@ x-5=2x+5
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6x—-5=-x+4

6x+x=4+0
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@ -4x+9=9-4x

@® 3x-2=5x+38

® 2x2 -7

@ x®+5x+6=x2+1

x(2x-3)

® x(2+x)=2(x+1)
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@ 5x-1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —-(x-2)=x-2

® 1-(x+1)=-2x+2



O x+(x+1)+ (x+2) =57
@ (x=1)+x+ (x+1) =57
® (x-2)+x+(x-1)=57
@ x+2x+4x =57

® x4+ (x+2)+ (x+4) =57
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@ a=bolHa+2=|0)

© a=b0H2a-1=|

© @h2b,(h2b-1 @ Gh2+b, Lh2b
® Oh2b, Lh2b+1 @ Phb+2,Lh2p-1

® hb+2,Lh2n+1
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0.2x+04=-0.17x-0.34

@ x=-3 @ x=-2 @ x=2
@ x=0 B x=1
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®a=0,b=0

@ a+0,b+0

@ a=0,b#0

® a+0

® a#0,b=0
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D 9 ® 10 3 11 @ 12 B 13
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@ 2(7T+x)=x+7-18 @ 14x-18 =10x+7
® ldx=x+7-18 @ 70+ x-18=2(10x+7)

® 2(70+x) =10x+7-18
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@ 0.08x + 0.03(480 — x) = 0.07 x 480

@ 0.08x + 0.03(465 — x) = 7

® 0.08x + 0.03(465 — x) + 15 = 0.07 x 480
@ 0.08(465 — x) + 0.03x = 0.07 x 480

B 008 +x+003+465-x=7
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D44+ 2x=-3x—>2x+3x=4

@ —4x-3=x+1—>—-4x-x=1+3
®3x-1=2x+1-3x+2x=1-1

@ —x-4=5x+2—>-x-bx=-2+4

B 3x=6x+11 > 3x+6x=11
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® 2(x-2)=0 @ 03x—1=-04
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(x-2a) =7 2] S| o], ¢ o] FL22

@D 3 ® 4 A 5 @ 6 o 7
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0.3(x—3) =0.6x—3, 2x—a = 3x+19]
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Bo(x+1)}+{(2x-4) @1} =8
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